Remember It Sheet #9 Name Date
118 94 123
Number + 98 - 68 x 8 r
131 2 6 3 4
Round 5670 to the nearest 1000. What is 405 to 2 significant figures.
Fraction 32/3+2 4/s 4 2/3 -2 3/4 3?2/5x5 3/ 61/7+31/3
123 172.2 2'2 eSS
s .7 72. X .
Decimals + 284.8 - 144.4
Percentage Find 10% of £28.80 Find 5% of £28.80 Find 2.5% of £28.80 Find VAT @ 17.5%
of £28.80
How many millilitres are How man cubic 3.5 3.6
Common : .
Measure | oo es? centimetres ( om? ) are ‘ L ‘ L]
there in 1 litre? 8 cm
What reading does the
arrow pointto ? Volume =
12 4
Shape and
Space
What is the name of this | What is the size of angle Draw the réeflection of Will these shapes when
shape? between the two clock this letter about the used together
hands to the nearest 10 dotted line. tessellate?
degrees?
Dat A Gislioe Gislioe Gislios Gislios Wellington Sales
ata B Oisios Giblos Gislos Gislos 6 -
C Cinlige Chislioe Gt 45
D Gislioe Ghsio: GClsios Clsioe Gasl "
E Gisioe Gislioe Gisio: . 301 -
.5 25 + |
wilios 1000 @EE 500 S u
@ 750 @ 125 10 |_|
5,
How many sports cars did each factory make? 0 | Feb | Mar | A May  dun
g E C Month
What was the sales average for the first two
months
Probability My friend said the probability The probability of being picked

of throwing a standard die
and getting an even number
was fifty fifty, was she right?

to answer a question in this
classis1in6,isita
theoretically likely event Fred
will be asked a question?

Fred
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Remember It Sheet #9 Answers

118 94 123
Number + 98 - 68 x 8 r
13 2 6 3 4
216 25 984 202 r8
Round 5670 to the nearest 1000. What is 405 to 2 significant figures.
6000 410
Fraction 32/34+2 4/s 4 2/3 - 2 3/ 32/5x53/s 61/7+31/5
8 7/1s 2 5/ 18 11/40 1 59/
= 19 22 318.5 + 1.3
F .7 72. X .
Decimals + 284.8 - 144.4 ,7
408.5 27.8 85.14 245
Percentage Find 10% of £28.80 Find 5% of £28.80 Find 2.5% of £28.80 Find VAT @ 17.5%
of £28.80
£2.88 £1.44 £0.72 £5.04
How many millilitres are How man cubic
Common : .
Measure there in 4.5 litres? centimetres (cm? ) are ‘ | ‘ | ‘ ‘ | ‘ | | ‘ | ‘ ‘ | ‘ |
there in 1 litre? 8 cm
What reading does the
4500 1000 amow point to ? Volume = 226.22 cm®
12 4
Shape and
Space
What is the name of this | What is the size of angle Draw the réeflection of Will these shapes when
shape? between the two clock this letter about the used together
Hexagon hands to the nearest 10 dotted line. tessellate? Yes
degrees?30°
A Gishoe Gisioe Gislos Gislion Wellington Sales
Data B o Gios 5 6EG: & .
C Gisipe Cisioe G 45
D Gislioe Gisio: Cisios Clsice Gl "
E Chsioe Ghslioe GClsios ) 301 —
£ 25 4
TiEee 1000 @EE 500 S ]
@ 750 g 250 10 |_|
5 .
How many sports cars did each factory make? 0 | Feb | Mar | A May  dun
A 4000 B 4250 C 2500 Month
D 4750 E 3000
What was the sales average for the first two
months? (35 + 45)/2 = 40
. My friend said the probability The probability of being picked
Probability of throwing a standard die to answer a question in this

and getting an even number
was fifty fifty, was she right?
Yes, 3 of the possible 6
outcomes will be even

classis1in6,isita
theoretically likely event Fred
will be asked a question?

/¢ = Unlikely

0 — impossible

numbers. Fred o
¥ - likely
1 - certain
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